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General Instructions :
All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each. Section - B comprises of 8 questions of
2 marks each. Section - C comprises of 10 questions of 3 marks each and Section - D
comprises of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A

Question numbers 1 to 10 are of 1 mark each.

Given that HCF (2520, 6600) = 40, LCM (2520, 6600) = 252Xk, then the value of k
is :

(A) 1650 (B) 1600 (C) 165 (D) 1625

If p, q are two co-prime numbers. HCF (p, q) is :
(A) p (B) q ©) rq (D) 1

If A is an acute angle in a right AABC, right angled at B, then the value of sinA + cosA
is :

(A) equal to one (B) greater than one

(C) less than one (D) equal to two

If cos(a+B) = 0, then sin(a— ) can be reduced to :
(A) cosB (B) cos2pB (C) sina

If AABC 2 ADEF, Z A=47°, ZE=83°, the value of ZC is :
(A) 47° (B) 30° (C) 40°

The zeroes of the quadratic polynomial x2+99x +127 are :
(A) Dboth positive (B) both negative

(C) one positive and one negative (D) both equal

If cosecH — cotd = l, the value of (cosec + cotf) is :
3

(A) 1 B) 2 © 3 (D) 4

If the lines given by 3x+2ky=2 and 2x +5y+1=0 are parallel, then the value of k is :
(A) —5/4 (B) 2/5 (©) 15/4 (D) 3/2
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10.

In the adjoining figure, if D is mid point of BC, then the value of

© 2

tan y°

(D)

tan x° .

1S

1

The abscissa of the point of intersection of the less than type and of the more than type

cumulative frequency curves of a grouped data gives its :

(A) mean

mode

(©

(B)
(D)

median

all the three above

SECTION - B

Question numbers 11 to 18 carry 2 marks each.

11.

12.

Write the following distribution as less than type cumulative frequency distribution :

C.L

10 -20

20 -30

30

-40

40 - 50

50 - 60

60 -70

70 -80

Frequency

3

4

3 3

4

7

9

Find the modal class and the median class for the following distribution :

C.L

140 - 150

150 - 160

160 -170

170 - 180

180 - 190

Frequency

6

28

48

30

8
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13. In the adjoining factor tree, find the numbers m, n :

m

14. In fig. 1, AABE= AACD. Prove that AADE~AABC

A

15. Solve 148x+231y = 527, 231x+148y =610
OR

L
X

16. Simplify : sin® 1 - 1
R sinf cosec |’
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If @ and 1 are the zeros of the polynomial 4x%—2x+ (k—4), find the value of k.
a

In fig. 2, AACB~AAPQ. If BC=8cm, PQ=4 cm, BA=6.5 cm, AP=2.8 cm, find CA
and AQ.
B

SECTION - C

Question numbers 19 to 28 carry 3 marks each.

19. Find the mean of the given frequency distribution table :

Class 10-25 | 25-40 | 40-55 | 55-70 |70 -85
Frequency 2 3 7 6 6

If sin(A - B) = %, cos (A+B) = %, 0<A+B=<90° A >B, find A and B.

Find the median of the following frequency distribution :

Marks obtained 10-20 | 20-30 | 30-40 | 40-50
No. of students 4 8 10 12 10

Prove that the equilateral triangles described on the two sides of a right-angled triangle
are together equal to the equilateral triangle described on the hypotenuse in terms of
their areas.

Find the zeroes of 4/3 x?+ 5x — 24/3 and verify the relation between the zeroes and
coefficients of the polynomial.
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Prove that 2 + /5 is an irrational number.

OR

1 ) . .
Prove that is an irrational number.

2 +.43

Show that 9" can’t end with 2 for any integer n.

If A, B, C are interior angles of AABC, show that :

cos2 é + Cos2 (ﬂ] =1
2 2 )

OR

Prove that :

cot(90°—8) N cosec(90°—8). sin®

= sec?f.
tan6 tan(90°—6)

In fig. 3, PQR is a right angled triangle in which ,Q=90°. If QS=SR, show that
PR? = 4PS? — 3PQ?

P

S
Fig. 3

Yash scored 40 marks in a test, getting 3 marks for each right answer and losing one
mark for each wrong answer. Had 4 marks been awarded for each correct answer
and 2 marks been deducted for each incorrect answer, then Yash would have scored
50 marks. How many questions were there in the test ?

OR

The ratio of incomes of two persons is 9 : 7 and the ratio of their expenditures is 4 : 3. If
each of them manages to save Rs. 2000 per month, find their monthly incomes.
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SECTION - D

Question numbers 29 to 34 carry 4 marks each.

29.

Solve the following system of equations graphically and from the graph, find the points
where the lines intersect x-axis.

2x—y=2,4x—y=38

Find all the zeros of the polynomial 2x*+ 7x3 —19x2 — 14x + 30 if two of its zeros are

N2, 2.

Prove that

tan6 — 1 +secd 1
tan® + 1 — seco sech — tan6

OR

If tan® +sinf=m and tan® —sin® =n, show that m2—n?=4mn .

Draw more than ogive for the following frequency distribution and hence obtain the
median.

Height (in cm) | 135 - 140 | 140 - 145 | 145 - 150 | 150 - 155 | 155 - 160 | 160 - 165

No. of plants 4 7 18 11 6 4

Prove that fcosecA +1 — secA 4+ tanA
cosecA — 1

Prove the following :
‘If a line is drawn parallel to one side of a triangle to intersect the other two sides in
distinct points, the other two sides are divided in the same ratio.’

OR

Prove that in a right triangle, the square of the hypotenuse is equal to the sum of the
squares of the other two sides.
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1. fe @ HCF (2520, 6600) = 40, LCM (2520, 6600) = 252 x k, @&l k T HM BT :
(A) 1650 (B) 1600 (C) 165 (D) 1625

IfE p, q & T8 AN T&H € A HCF (p, q) & :
(A) p B) q © rq (D) 1

AABC # f&1 £ B 0V 1 T £ A =TIV § T sinA + cosA T HH 8T

(A) 17 SR (B) 1¥ 9 (Q) 183 (D) 2% S

IfS cos (o + B) =0 T sin (o — B) Tl Fe&q H for@n 51 wahal #
(A) cosp (B) cos2p (C) sina

Ife AABC = ADEF, Z A=47°, ZE=83°dd L C I A1 © :
(A) 47° (B) 30° (C) 40°

x2+99x +127 fg&1d sIgue o I B :
(A) SH HAHS (B) Sl RUTcHS®

(C) TH oARHE 3R Th FHUMHE (D) THl IR

I cosechd —cotd= — Tl (cosech + coth) T T T :

1
3
A) 1 (B) 2 (C 3

Ifg W@ 3x + 2ky =2 AT 2x + 5y + 1 =0 HAFR & a k T AH BT
(A) —5/4 (B) 2/5 (C) 15/4 (D) 3/2
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fed T o= & fag D o1 BC %1 5o fag 31 z;‘; <1 W B

© 2 (D) 1

10. U S(Thd SAThel HT SHI ThR & TR (FH TR &, TF THR &) & Tfdesed fag &fas
Y W y-A TG AR :

(A) W= (B) WAt

(C) g+ (D) |+t =i

Ques-d

U9 WEAT 11 9 18 Ak Uk U 2 3kl T &

11. 7 SERar §e7 &l ‘HH YhR &' G IReRdl sed & ®9 4 foaal |

1 3T 10 - 20|20 - 30|30 - 40[40 - 50{50 - 60|60 - 70|70 - 80
IRARAT 3 4 3 3 4 7 9

12. 79 deA %1 sgares a9 AifeeRT aF [a 4

T = (140 - 150 (150 - 160 {160 - 170|170 - 180|180 - 190

IRRAT 6 28 48 30 8
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13. WY ¥ {53 PHEE g9 F m AU n H TH 6@ HL

m

14. 3TRfd (1) § AABE= AACD, fag &ifSit AADE~AABC

A

i -1

15. ¥ &4 : 148x +231y = 527, 231x+148y = 610
q0

é+3y=14, E—4y=23
x x

16. TA HIfSA : sinﬂ{ 1 - ! }

sinf cosecH

17. AR L 9598 4x2—2v+ (k—4) F IAF B A k B A T A
Q
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3M&fd 2 °§, AACB~AAPQ. 3afE BC=8 cm, PQ=4 cm, BA=6.5 cm, AP=2.8 cm, @ CA
o AQ I L |

B

Qus-9

UYT WEAT 19 9 28 9k Uk U 3 3kl T &

19. 791 IERAT e 1 {189 19 A |

I A=A 10-25 | 25-40

IRARAT 2 3

9f¢ sin(A — B) = %, cos (A+B) = %,O<A+BS90°,A>B,?P[AH%1TBWWH§|HWI

o oo 2

freferfEd sReRAT seq i HIfeRrehT I 4

Ui 10-20 | 20-30 | 30 -40
forenfef=i =t g 4 8 10

fag #IfST fF TwaRivn s & < Jonell § a9/ T8 gaiag s & SEwa 1 A H0 |
ERIERIDESEIECI R ER S i R E b e e K C LG

TGIS 443 x2+ 5x — 23 F YAF A HITSC TN IIF o Ul B a8 FeAmrad hifrg |
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fag =i f& 2 + /5 & iy & 2|
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T9IEd o on & foedR &1 TAIfd 2 R el & el el n T oIk

Ife A, B, C fr&t AABC & 31=: &0 &I dI <gigd

2 A 2(B+Cj
COSs™— +cos™ | —| =
2 2

1 .
kLl

ferg T - cot(90°—6) N cosec(90°—6). sinf _ sec2o
tan® tan(90°—6)

3TRfd (3) ®, APQR ¥ ,Q=90°, afc QS=SR & I 3¥isd fh PR? = 4PS? — 3PQ?
P

S
Tpfa-3

7Y % Teh T H, 3 3k WEl S W UMW F q7 1 37k TTerd S W F24 @ FeA 40 3% W B
g1 afe 8 4 i T S W e qen 2 3 Tad S W Hed a1 SH Fol 50 3 I 2 |
F1d Hifere foh Fo fra T SR H 972

7

3 AT AT ST HT S 9 : 7 R AU IF T Bl U 4 : 3R | Afe AT & WA wfewme
TSR I=Td §, 1 SR HIfEeh 3F J1d &4 |
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Qug-q

U9 WEAT 29 ¥ 34 9k Uk U 4 3kl AT &

29.

17 FteRzull o1 TR G g hITSIT TT ATH §R1 I8 off Ta1 hifsd foh W@ x-3181 &l fohg forg
TR I § |
2x—y=2,4x—y=38

24 +7x3 —19x2 — 14x + 30 % |l YLFF F@ HU IS 3Hh QA YIF 2, —/2 3 2|
fag =i

tan6 — 1+ sect 1
tanf + 1 — secH sech — tanb6

1

If< tand + sind =m TT tan® — sin® =n I TIET m2—n?=4/mn .

=1 IReRar sied 1 ‘9 31fieh YRR 1 0T Wil a9 JifeehT Jd Sifsg |

>4 (9H1.H) [135 - 140(140 - 145|145 - 150(150 - 155|155 - 160|160 - 165
i} Rt gEAn 4 7 18 11 6 4

fog =wifSiT ;. [cosecA + 1

cosecA — 1

=secA + tanA

fog wifsa afe frdt 1y 1 T Yo & FHiaR 311 @ qenedl o faer-fis fagati = afa=sg
F & ford U X Wit S A T T Y9 U § oI B fafa g St € 1

T
fag FIfSTT oo et & of 61 ot 99 277 <1 y[e1edi & ot & 41 % SeR B © |
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